dergel Prokotiev
Symphony No. 1 in D Major, Op. 25
Classical

TRUMPET I in Bb

o]
ﬁ

©
2
_

.m\i.{

ey
..Ml-

=

o

e

&
m>
<

12 E 3

C 10 D

—

1 e

rp

1

ﬁ>-

f.>.

rp

>
[ [N
—e

a.P

3\
=

¥
=

e —
EESSTEI =SS SRS
’ Jr=

=~

=

ten.

>->.>

S S S

3
Y 4
-

I~

[
~ >

se =
S S

N

>

1
| 4

]
T

1
Ll

Dj

[~
>

Jfmolto pesante

N

S

£ o> > > >

15
D)

1
;'g——-

>

>S_>.

> >
I Al T

mf

S



Prokofiev — Symphony No. 1 (Classical)
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Sergel Prokohiev:
Symphony No. 1 in D Major, Op. 25
Classical
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